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Learning Unit 9 — Linear Equations in Two Unknowns
Active Learning Lesson Activity
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Active Learning Exercises for Students
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Collaborative Learning Activities Students: GIEEEEe
Interactive Online Whiteboards (IOWB) will be used as communication tool. L4 L P B A T S A S B
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Assign students in groups to solve the following simultaneous equations by the 51 .i.-_La- ! } ) o o
substitution method on the Interactive Online Whiteboards (IOWB). OBy i o BRIy By 6 41 0 WA AR ERPE OIS LR ACERE IR :
https://app.conceptboard.c 2o https//anp COIrICe tboard.c
Group students into 6 groups. Students can observe the calculation procedures of om/board/féma-bace-uidk- om/board/foma-bace-uidk-
other groups and counter check their answers after that. t30d-7nut TEEEREES T - BT T DU S HA NEAYE ROERR - TR T EERIX t30d-7nut
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Solve the following simultaneous equations. ceanning the QR}c]:ode Y QR FELLE A
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Question 1 Question 2 Question 3 Actively engaging in S Bt 5l e F
{4—)( +3y =11 {3x + 4y = 12 { 2x+y=4 discussion and working out I 1 I 2 i 3 & FEERRTES Lig
2x+y =5 X+ 4y =8 4x-3y = 3 the solution collaboratively &
: . 4x + 3y = 11 3x + 4y = 12 2x+y=4
using the Interactive { { {
Question 4 Question 5 Question 6 Online Whiteboards 2x+y =5 x+4y =8 4x-3y =3 BT LS YoTeach!
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2x+y=6 6x + 5y = 15 X-2y =2 Students can ask questions - " + 1 S 4
through YoTeach!. {_ XTy= { X y= { X-zay =
Question 1 Question 2 Question 3 2x + y =6 6x + 5y = 15 X- Zy =2
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Question 4 Question 5 Question 6 b <G Y) Sdent
2x+y=2 x+y=1 3x-2y=4
mey=e xmsy=1s xomez Question 4 Question 5 Question 6
2x+y=2 { x+y=1 3x-2y=4
2x+y=6 6x+5y=15 x-2y=2




